
Southdown Genetics: Callipyge Mutation 

Answer Key 
 

 

Example: Ram (clpg/CLPG) x Ewe (clpg/CLPG)   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Mating % Callipyge 

% Carry 

callipyge 

mutation but do 

not look callipyge 

% Normal, do 

not carry the 

callipyge 

mutation 

CLPG/CLPG x CLPG/CLPG 0% 100% 0% 

CLPG/CLPG x CLPG/clpg 50% 50% 0% 

CLPG/CLPG x clpg/CLPG 50% 50% 0% 

CLPG/CLPG x clpg/clpg 100% 0% 0% 

CLPG/clpg x CLPG/CLPG 0% 100% 0% 

CLPG/clpg x CLPG/clpg 50% 25% 25% 

CLPG/clpg x clpg/CLPG 25% 50% 25% 

CLPG/clpg x clpg/clpg 50% 0% 50% 

clpg/CLPG x CLPG/CLPG 0% 100% 0% 

clpg/CLPG x CLPG/clpg 25% 50% 25% 

clpg/CLPG x clpg/CLPG 25% 50% 25% 

clpg/CLPG x clpg/clpg 50% 0% 50% 

clpg/clpg x CLPG/CLPG 0% 100% 0% 

clpg/clpg x CLPG/clpg 0% 50% 50% 

clpg/clpg x clpg/CLPG 0% 50% 50% 

clpg/clpg x clpg/clpg 0% 0% 100% 

Note: Pictures used in this exercise are for educational purposes only.  Gene test results for each picture have been fabricated to teach how the callipyge mutation is 

passed in a Southdown mating.     

_______% Callipyge 

 

_______% Carry callipyge mutation but 

does not look callipyge 

 

_______% Normal, do not carry the 

callipyge mutation 
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